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Since he was 71m % the first year he is not required to be 177 % again

OVERVIEW

It was stated in the name of 27 (or 27 92 X»n) that once the 7v7v» made a XN, he
is not required to be 7M1 again. A cursory reading may indicate that he never has
to make another X1 (even after three years elapsed since his initial 7Xm2). N1BOIN
rejects this view and explains the 2"aw"7 "».

— 09V 1 ‘90 1y 'or09pn ws
The 2" explained that Mn? $"X means that a 7Xnn is not required until the
end of [each] three year cycle; there should not be (more than) three years between mxn».

nvoIn asks:
— NN NHINK NIYH NI NIYW ¥MPI I DAY PITNIY 219 1Y 2INPT NI 1P523NN 9NN ON)

And if you will say; what is the w17 of this ruling; this was already stated in our
mwn where it says,’ ‘so that he will make a 7 for a year and they will

inform him for a year and the 7v7v» will come the next (third) year and protest’ -
— DY /) TIN DNN DY P9 MNNY 7098 PRT NN

It is evident from the 71w~ that he is only required to be 7m% once during the
three years; so what is the w17 that MMM 7 PR W INWRI MW maw 1°3?!

nv0IN answers:
— 73 9902 HNN ANNN ON 29 7498 PNRT RININ NN PNINNN INT 91990 W

And one can say; that if we would only learn from our mw», I would have

thought that only one 7Xn% is required at the end of three years (as the case is
regarding X*>10X in our m1wn, that he made a 7xm7 at the end of the third year)”
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However in a case where the 7v7v» was 7m%2 in the beginning of the three years
(i.e. in the [beginning of the] first year of the 7117) and he was not 7m» again for
the entire following three years, we may have thought that by not being

" See X% 1"7 0"awn.
2 The n"37 Mt amends this to read, 0°1w 's1 '3 92 0.
3 x%,7%, this is in regards if the 9 ¥» lived (in X190K) a year away from the prin.
* See “Thinking it over # 1.
> The 7y7wn is ‘excused’ for not making the ixmn earlier, since it took that much time for the 77ptn to reach him and
for him to respond. See ‘Thinking it over’ # 2.
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continually 7imn, the 7v7y» is admitting that it belongs to the pmn; for otherwise why is
he not continually being 1im», therefore the w17°r is that even if he made a 7%n» in the beginning,
that 78 is valid for a period of three years.

moYIN rejects an alternate explanation of Mnn? ¥"X 2w:
— a9y 1y MmNy TP98 PNRT YYD PN

And we cannot explain that nm»b 9993 8 means that he is not required to be
1mn forever, after he made one X7 -

SN YIPD YWY 910900 119D NI WIPY WITTIN D9 )5 ONY
For if indeed this is s'27 intention that there need be no more MXrn, then 20
argues with %" (who maintains '\ '3 92 7302 Mnn? °7%Y), so the X3 should have
stated "»R %' (which indicates a disagreement with the previous opinion [namely
27]), and not ' 22K (which indicates a new statement but no argument).

SUMMARY
mnnb ¥"X 23 means that he need not be 1M until three years have passed.

THINKING IT OVER

1. mpoIn asks that we already know the 17 of mimn® ¥"X 2w from our mwn.’
However, in our 71w» he could not be 7m» more often, but in a case where he
could be mn more often perhaps he is required to be (71w 233) Tmn?®

2. moon states in his answer’ that in the X" we would have thought that if he was
7mn in the beginning and then not 7mn till the end of the three years that it should
be a 1P, since it appears that the Qv is 777 that it belongs to the P 1n. Would
we also have assumed then that if he was not 7¥7¥» until (before) the end of three
years (when he was close enough to be mn earlier) that by not being 7rmn he is
also 771 that it belongs to the v yn? What is the difference between the two

10
cases?

® The advantage of this w110 is that it would remove M2oIN question that this w1T°n was already stated in the mwn.
According to this interpretation it was certainly not mentioned in the 71wn. Nonetheless n1v01n dismisses this
interpretation.
7 See footnote # 4
¥ See mmw mx "o,
? See footnote # 5.
1% See n"ma.
2

TosfosInEnglish.com



